EECS 3213 Assignment 2 Solutions Fall 2014
1. Problem 1.13
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2. Problem 1.14. For both parts (a) and (b) just show your calculation for the circuit
board and the continent.
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3. Problem 1.15. Just show your calculation for the circuit board and continent operating
at 10~Gbps for 1000-byte messages.
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4. A signalling process represents 1's and 0's with sinc pulses.
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5. A message consisting of 1024 Bytes is transmitted over a network with links
operating at a rate of 2.048 Mbps.
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6. A router processes packets at a rate of 2345 packets per second.
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7. A 15-KB file is to be sent through a network consisting of 5 links and 4 routers.
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8. For the system outlined in the question above assume that the packet
transmission time is
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9. For a system with a queue having an arrival rate
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10. Plot (just a sketch conveying the characteristics) the normalized delay
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11. Problem 5.3.

o~) [O l¢B IM(SS_,&C,J'- Lm«n( =M= /AB

0 Fﬁ(IOJLS/ Framas enas i b te o Massagl

H1 3 ke
T T

. woLﬂ‘ﬂ\ll'}'\ poxck-O\L i, QYR i fuo
P P SR P
"’P r PWOL‘.LI ’1 y D& neo—  Liireid- )l/\ F"C’q-:,’ oyer ,hoP

3
PP;\J‘,U&‘S (‘—D) Wo errev i Fq;‘(r" ovar 3Ltops

3o —39 wol. wessacs @ pmives
PmQ5Sﬁ&g,': [( "‘P).’Jm;. ([—P)OQ; P i P ?

Page 8 of 20



EECS 3213 Assignment 2 Solutions Fall 2014

lo) | Avq. e "6 M?/_UINQQ quMSM’fS

v . e
7.

MRSsage,

c:.) | evs s (1': wﬁ mfr\c‘mw*s PQV Fa.c‘!v-'{'

.'..._____; /!/- =M;§V / = & !
3 N
< :

Ep_e\_ckg" e _(f‘—{{)
3 P T e . O N

3(7,;

<
3
g

12. Problem 5.15 just (a) and (b). For (b) calculate your answer for N = 80.
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15. Problem 2.10.

f.‘éq%/ﬁis/ )L\ leuyn

< Aaﬂ\ ayers can rew'élc

N,covz{ )z;om P"M”Sm/ﬁ/@ﬁ
S Crroevs

- ;607% A/_/‘Z"S cau Frow'oé MD&/
coulrol

o both /n)/ﬂr.\' can SV/D/MML My /r;»é)(
2 TCP ovdlyr m////’/':/e /:0"/:1'
> dote lisk firouh MAC

Fall 2014

D,%mag

/)\am_s or A er /s Mal"ﬁ"'ld
over /I:no‘{’hd04 /r'aér} Ao [l
/5 o a(éu?l links, Hos /s loss
/,'/cefv % vou /nfé: a/_oﬁ_‘f
veae PHUs

/’lé\ /I;l 69“&!‘1!‘% W/%
framing, tronsport wot

a/q?éq //‘4»4 mwlc/wr'?%

3 U 4 <oliv c/ nids hta,
k/r'r@?:SS ZM/J ;::::,o:jb’/

16. In which layer of the OSI model is the Ethernet layer best placed?

° as /107}20/
Yo odutolink /a\yczr

Page 11 of 20

/:-\ ,7/’7‘ E?%erm’j. /'S cgn\:/'oéﬁ(o/ o f»@?zoco/



EECS 3213 Assignment 2 Solutions Fall 2014

17. Problem 2.19.
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18. Problem 2.20.
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19. Problem 2.25.
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20. Problem 2.28.
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24. Problem 8.29(a).
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